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THEXy « T - FER - 5 MO LFENAL B G EHAm & TE (B ESM)
£l 9 - S
= 1 73, 755, 358
Bk o T
= 1 20, 620, 222
E¥LT
= 1 687, 861
oK HIE T
= 1 842, 988
PRV BRAE R ¢ 1100 Kjp2fd
m 4 210, 747 842, 988
AET
= 1 19, 089, 373
¥ Lavy)-h 18-8-40 (Fi4F) #JZ 10cm
m2 122 3, 449 420, 778
VIR 24-12-25(20) (& JF)
m3 160 55, 313 8, 850, 080
VIR 18-8-40 (= %)
m3 9 43, 506 391, 554
AR SD345 D13
t 5.16 156, 845 809, 320
AR SD345 D16~25
t 4. 49 154, 920 695, 590
N =2y = 3.98mX 2. 83m
B 1 5, 254, 473 5, 254, 473
EHEY ¢ 19 W=300
& 11 3,675 40, 425
B O 1000 X 10001
& 1 51, 994 51,994
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
H HiAR 27 AR =20
m2 7 5, 412 37, 884
LKA CF (Mt #2) 200 X 5
m 10 2,584 25, 840
SRR TIwE SEHIRRARE & 4. 5m
KWAFTIAE 4.3m
bi'e 15 59, 309 889, 635
s LBRR Y MLE 2104Hm2
= 1 945, 000
X f=<40kN/m2 [t = 120cm] 16072m3
= 1 676, 800
HRE S T
= 1 5, 625, 952
AR[E 87 ny) T
= 1 83, 064
FRIE D7 wy YR W7 ny) 7wy FEE (GREE) 3.
55t 7 myJfE NI 3G AL
& 8 5, 481 43, 848
TSP ARE DT ny e 2.5t & B Z5. 5tLA T FA A faf ]
2@ 0. 5kmPA T
& 8 4,902 39, 216
BREE7 0y T
= 1 5, 542, 888
BREET ny ) AR FEHETR 77 ny ) FRAH (B2 /) 2. 59t
(eS| 88 49, 666 4, 370, 608
FRIE D7 wy YR W7 ny) 7wy FEE (GREE) 2.
59 t 7wyl A
(eS| 88 6,575 578, 600
TSR DT ny ) 5Ed 2.5t & B Z5. 5tLL T FiA A faf ]
3@ 4. OkmPA T
1i# 88 5, 333 469, 304
A=} 18-8-40 (&%)
m3 2 62, 188 124, 376
-2- ELzmd s i
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THEXy « T - FER - 5 Mo % FREAL K B (B¢ & M| T2 (BB
Gan
= 47,509, 184
THAEK T
= 1,918, 000
TEAERRE L 4. omPA b 390m3
= 574, 860
K+ 5 WAE - 5 TR P 34 544%
= 461, 106
KAG SR KA+ 5 4% 0.14t
= 1, 447
T AE R s 390m3
= 527, 280
K+ D 9 ik 544%
= 275, 616
HEARY - R E - fE 95m2
= 77, 691
- 8F - B T
= 40, 782, 680
SRR VR SERERAAR S 10. 5m 5 1514
KWATIAR 9.3m MR
HBE 9.3m
= 8,334, 143
HERATT H200 HEfiE: X (Hif) 4m HEMTEY 24
AR Am HEEATVE5HE 4m
= 500, 472
TR MERM BERE S 0.03m 56m2
= 377, 832
wrok+ 4. 0mPh k= 4,200m3
= 6, 270, 600
K+ 5 WAE - 5 M 34 1, 30958
= 11,177, 551
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
KAE SR KA+ 548 3. 34t
= 1 34, 535
RO s 4, 200m3
= 1 5, 678, 400
KE+D S ik 1, 3094%
= 1 6, 681, 136
WERY- R - ik 2,113m2
= 1 1,728,011
KA
= 1 614, 900
V7" Bk 45084 _F1300 (m3/h) A5 VEZERFHE 26H
K
= 1 614, 900
1R IE T
= 1 2,772, 000
VE I 1k 7202 R iR 140m
= 1 2,772, 000
ARmE T
= 1 1, 421, 604
TS 108AH
= 1 1, 421, 604
B TR
= 1 73, 755, 358
MR R
= 1 9,371, 570
B3 TS
= 1 3, 199, 489
TR
= 1 2,401, 052
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TR B o MR ST A 1[=]
= 1 1,017, 527
IR TR 129t
= 1 1, 383, 525
BGmEsET (K30
= 1 798, 437
HIBGERE (FE L)
= 1 6, 172, 081
Wi
= 1 83, 126, 928
B
= 1 23, 895, 387
T AT
= 1 107, 022, 315
—
= 1 17,977, 685
TS
= 1 125, 000, 000
THEBLFH Y %H
= 1 12, 500, 000
TH#&G
= 1 137, 500, 000
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